19

|
P

(4

U
1
kil

L.

@)
2
[6)]
9 |
e .
i
=
S \
%>. N \
+—
=R
Al
g K'l|
< || st
< B B
e xd
mnunmwd W
— N
o
o
-
~

cresc.

=
G

]
I

=

i /

]
I

!

N §
™
ﬁL xS
)
P
“slel —AlRL
gy \
XX
—velel
S — |2
Pis
) Y
e
S N
= e . va
Au \v ole
2 TN A/

o NO
ol “wn
q
o
= 5= v
2 N
3
F e ~d ]
. 1™
Inul..unv .hm.unv
T R— — N[
50
SHTNe_ —ee/
TIee_ (el
UERCL a
g
0 A
| A .
o
LN l:
=
FRR
—h |e
(
] O | QUL
==
N el
Ll ol e ||
L33l
i JE YRALV

e
AL || & T
| \}
.J b
= v
i u gy | ==
9ol TN [QL]
Al T® N
W |
5
EEy
e 5= s e = o
A W oo
S UAm\\v %/
—— S —

ﬁ_ I cresc. ; .-IF
="

1\

Y 1D

A\NV

'r'

*) vingerzetting volgens Breitkopf & Hartel
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